5 F K[El#E (BIERR)

.\
Iz | fie £ k4% AR g
Raok |78
1| 5400[R® & L5
1| 65195 L | AR—Y1=—F1 000
g IR R R e S R BEEAT— 0%
7] T 5. B [ XTURE—mA 739
5| 3292|2m BE | Er e R E e BAT — i
S 2443 XFINTFIRE—ET 2'52
7 471021 A EH B [RrflesrhAAEmAT— 7??
8 666]1% 5% o] W ZN—54T L—0% '
87|/ Elh |7 IFRE—F—L s05]
0] s401|F HHE [Ed SwF (RACH) 115
1] 4948| & Z0 28 |J)—RAX—557 s
12| 1827|;xH & 5 T
I 5 I.Sn 25 Y& BH —_
s selnE L i oo
14| T595| iR A e |A—TXTLT7—I 2 T
15[ 10238 F= TA |A—TATLr—I T
1;5 1%;2 f““ EB |ICIAEAR—JRAZT—F5) ggg
B EES EF |[ICIAHEAR—JRX—F5) 2L
18] 4379 B/ R |D—R%x—557 reis
1] 3290]7k 51T |1F—L v e
g? ?m 1] %ﬁ;‘é F— L\rs S+~ (TEAM VON) ggg?
G 7 ﬁﬁlg EF *"i E .
22| 3351| K% Za |A7r1— '_]I: uf:f# ﬁ%j At e
23] 3146| B & 2 T AT A —55T ey
gg 3984| Rk BX Io—070F— 58'83 .
1406] 1145 2L Ao deiCRRaed 55
[Ty TN =, F1R B —
26| 5194|ZF e 52&7)'?&*/;&—%7%%# o
27| 9114|[EA ZRENTATE—RAx—557 745
28] 5010[ i = 7737‘-‘5—;@&—727 saag
29| 6282 Bk & S50 2 5
30] 6288|FR O E G e B T
g; 54557k L i Y L - S0
i :73?6233 :E&IEF' fﬁ R IR o R B o A — R gg?g
o sie E3F BE | Rn e rhAE BB AT 5 35.69
2 1932 ﬂzg réﬁ ii?ﬁ%%%%ﬂfﬁLEEEX#—‘Z% 35.72 L
E 53 BA7 LR AX—557 '
ge 7690[ 1L EH X | RRahFRAE EBAT—E 507
[ osse[NKE ] [mrmAk—ew - 17
38| 1402| = B |7—L I+ (TEAMVON) 5
30| 6280| I @ BE |[—EmAr—aw 501
40| 6871|f&IE Fll F—LE— |~r7mt‘\yl~ X
41| 6163|FG BE |[J7AV—L—FF—L 5
jg ; gg; ﬁ_ﬁ% %;ﬁﬂrs Zﬁﬁ%ﬂ%%%ﬁﬁ% EERE— gggg
il Ti1—EVYRAX—05 .
44| 4108[a8 BB |[CIRRAR— ‘Jx#/]j]j%? 1007
25| 6535 B R B— |NEmAF—2E 1070
jg 2453 gﬂ = [FERAT e ig.go
7883 F )1 =77 Jic 5 = 2
7E) IS [ 2L ﬁ%%?%%?ﬁ‘%%éﬁ7j# 77
49| 5273|FEH %__’gﬂﬂ ICIAH R R—YRAF— ’;177 o o
50| 9392|H 1L s |CEmAx—2% 17
51 6967 Hj_a%! TR [o—o708)— = s
52 65551 5 R | T A FAE—750 T
gz ;;gg ?IJ.I Bl | RRie & R A D AT —ED jjgg
T ) S5/ X 1y 22N 7594
56| 51 TE o8 |mne kR B S —8] 4617
o M B - |[Reat e -5 | 4658
g5 |F—4L SV .
58] _5073[TaA XE GOL;/T/—?;;’:JL‘ i
gg ;1893 A 3 Ao BN—TFFAT L—"5 ig";o .
o Zg?g %ﬂl gﬁ BAT7 LR ZX—55 49'32
m % % * * E )
62] 3656/ KkFE Aot | ?Elzﬁzfi_fm DEEAT— iggg




63] 10295 = A EX a7 RE—55D 49.63
64 3961|%=M FIE | e R E e AT — 50.83
65] 1764]%C A NT7I9IRRX—495D 52.16
66] 3139|EZA X [BERTZILRVAFZF—95D 5285 (D
67| 5106]A0 —E | 7AT=—R¥X—557 53.04 | *
68]  9639| = BA |F—L-E—F5— BYk 53.31
69| 3287|8%K EY |RnbdieErhAoEBmAt— 5473
701 4158 A 0 F—L-E—Fry—-BYk 55.31
71| 7626350 B GODL—>% 5549
72l 7217vE Bil, | AoA—LAX—55) 57.23
73] 1312JlLumA M2z JHHARAXF—BER 58.06
74| 4023|FER TEINESE Rt 5815
75| 7891|8% A = GODL— % 58.46
76] 10224 /1\iF BARN=HTAESRTTD 58.61
77| 1768 @nas BT IMAXIMUMA X —F—L 58.79
78] 1879| &R miE  JRAF—F—LTFTR')—k 58.85
79| 3987[81H FE [T X5—557 59.00
80| 1174/ KF SEMAY—E s 59.23
81] 8308 ﬁu [EE RAN R ERAE E R AE— 59.34
82| 40305 K 58 AU FN—=bk54T L= 59.39
83| 9214|R ]I BE |HAL—VRRAX—15 60.35
84| 3970|IEE T_ | EXRAEx—E% 6058 | *
85] 8372|S il = |o—IL-5570 60.74 | D
86| 92245 H =B | ABaRL—25F950 61.00
87] _4168|iEH = EG S T o 61.10
88] 7835|FE/E —iE R e ErRAE BB AT — 61.57
89] 7806|E1% ek |INFHmAF—EDR 62.08
90| 3405|EF REE N\ FAL—2 T F—L 62.04
ol 4341|5= Blg |T—FIL-RAx—-55) 62.36
92| 9685[m I ME | ho B/ N—Fo540 L— *//7 62.43
93] 1820]dt /&R BEA R s rRAE EHAT— 62.78
94| 6295|FA I M%E  IMAXIMUMAZ—F—L 63.19 | *
95| 7123|A&L ZE | LERAS—2% 64.40
96] 3900|F1F BE |HAZILROAT—DT5 64.90
971 7354]A1L w— o352\ —20 64.94
98] 4092 AFIHF fith [XBERX¥X—957 65.39
99| 146|EH SR BN P 65.40
100] 5388|=#%2 = AEXF—H—FILR L 65.99
101] 9384/ MR F—L Svyia 66.00
102| 3523|3T8A ES A BTV E ) 66.41
103] 5414|7E% ANE |A—TIRXTL7—L 66.74 | *
104]  6296]# K A% [IMAXIMUMZRF—F—L 66.81
105]  1226]#k EZa |[F—4L Svia 67.14
106] 7210|EIE 5 T a IS RR 67.43
107| 8438|F & E FEAX—5750 67.81
108] 3076|FE BAR|ICIARFAR—YRXT—55D 67.85
100] 2491|PaIER =A) ’7‘5//\/-1/—9“/7 67.97
110] 2630 £ H & EPES 68.19
111 8319|fE:T £ “@' EFT AL A ¥ — 68.43
112| 8378|dh#f ] NECFTEF'X—"F & 68.88
113] 9095)3K /% Z5H |BRRI—E% 69.07
114] 2847 & =— [|[7—FRE—VRF—55D 69.40
115] 1983[Z R % AS50—LAX—550 70.03
116] 3088|/NE BT AR T—7T5) 70.15
17| 1909|%& Bl | RrtesrRAaEBAT— 70.46 | *
18] 5727 FA ER |RRahFRAB EBAT—E 70.67
119] 8645 H ZN | e s TRAhE e EAT— 7113
120]  1858[FkT 22 |A/—91AFRX—550 71.33
121 1052|% K ZTH [7—ILE— F9¥39H 71.84
121 2915|% 410 2 | EBEmAT—EE 7184 | *
123]  1308iE1Z = [7—FRAEF—VXF—55D 71.94
124] 9752|h B EREIVREAARRRT—F5D 72.07
125] 696[fER AR |FS—LAX—55D 7216
126] 2480 Efﬁ HE | RF—F—LT7RJ—F 72.35
128] 5779 #J: thik |7—L Z+> (TEAM VON) 7271
129] 5159| &3 BA | R ERAE EHAT—E 74.43




130]  5812J/K% L
131 7171|E% R ER ?ZA/JE“J:/J i
132] 52342 | BTA | F—L Svoa e
133 5247|F.L Bl | EERE—T50 ;4'94
134]  2541|IERE B RN e s R A E 237
35| 5313|/BiR *EE% TRFE'\'_/‘]I'\ i;#?’ﬁﬁ;#_%ﬂ e
136] s267|f=m@ & ERX AT — ~ s
137]_ 1740585 B ERz3— ? TE 5
138] T610[E% i [EERE—557 5
30| 1836 =15 & 2T 1—ECIR A% —557 T
10| 5072|)11X Em Ezm;:/;\z;_g% o
141 5257|F A& Bt | T IV RAXT—T5D e
22| 3630|854 ZE |7 hT—RE—55 e
23] 5440|551 Bz |—THE7 LR AE—55 o
44| 2572 A5 T | —RE—557 2 o
45| 3120\ k5 BE |57 (RACH) e
126] 6595 24 —&% |F—L-FE—Fo— Bk T
147]  8478|¥AH S ESE I U N ;8'71
48] 7504 K& = |EXAX—aH - 005
29| 5252|aTR BE |EExE—550 5013
120 5749|515 1 AT L—05550 38'1431
15; 5166|354 BAEI/—X91oF X5—557 80.42
S05|—/ B K | EnBrCRREERA— '
153 _5279|Z8ED BT |57 (RACH) - 5059
5] 2845|%B & EE [GobL—1 % 5707
55| 6852 =% & 2 SO—LAE—55D o3y
156]  2206[#XH TR R PR A A & HAT—EB R
1571 1079]= A A |EEx %557 575
58] 3056|101 b ICIRHAR—JRE—T52 g;'go
159]  2543|FaA& BX |Ji—FTILoREX—F57 2
160] 6673 EF!'? = EERAE 57 ~ T
12; 141 * #HR | ART1i—EvYFRF¥—55D gg'gl .
T0291[BA 5% oSNt AIL—2F '
163] 3479 & FF iy | EXAT—a5 53,08
164] 1786 .7};—.7.5 AE | Ernd e srRAhE R AT —8 B3 10
65| 191625 EXTD =T = 5359
166] 7550[#3 1L #A |F—L J+2 (TEAM VON) 33'69
12; ‘7126733 E?f ER | R = R A B AT — B 8283
i Eh R e s AR AR B AT o) '
138 2519 #ﬂ;@] % | ASA—LAX—55D = i gj’gé
21| BE EA [ICREAF—VRE—55 '
Vil Y R S [BEX < E— 5;;# 722 o
172]  2017|R#F A— |EZRBHETFAT—EB b5
173 7024] iR T [PANSAEZ—557 T
174] 3026 :Am: %% [NECHPREFT—E L
175 2592| &84T R R/ —32oxy89350 32'40
oo —_
1;3 3?48 S =— | Rniie S R A B e AT —aB 86.2(7)
7 2022 I)\\“II EE—BEB RN RAEEBAT —25| 8704
; Z— _ O‘\ W —_ — .
170l 1201 |iE & =55 t;;\L#E’;;;; 222 37'59
180] 5753|§HEE — 5 K 1 570
T %ﬁ fﬁgiﬂza—rg 7*;1%%@5'57\#—%3 88.10
lgg §218 Jﬂ:lﬁ TR | IERAT—8% gg;;
551l A 53 pa) — — 9 '
84| 3526| % H % %ii/\i‘;‘jij S 5503
85| 2214|515 AE |=ETAE A5 5002
186] 6853 EK ZE |RSO—LAX—55D 5050
187[7038[EE]1] X |RBRAE—T5 5T
188] 61805 % BE [GODL—So5 i
ET I [ S Bah |R—<o 559t
190] 4951 EF AN |[FEAT—EER 59 58
191 600| @ F N N O = 554
192] 5567 &L AR | AR Rhe & BT —a 33'54
93| 3112| KT Bl |ZEhm T —2% ; =
194] 7696 Ezs BX [ aFrvIRRF—952 5278
132 1621 J?ET RiE |ZEERX—550 ggig
00| & E DL—Y25 '
51T [GODL—I V% 9451




197 2482|Fm& =22 WIhAF—aH 9459
198]  4292)Fk RA  |FAILRAT—55D 95.33
199 3432| K& 5 SwF (RACH) 95.50
200] 3627 ;‘IEr %5, |INEMAT—EH 95.56
201] 8103[;FER {E B RUFAAE—5H5D 95.85
202| 1885 %i@— s mx# 96.07
203 2179|fEH AE |XJJRAE—RA 96.24
204]  6466[|# B= [FMS—LAX—95D 96.39
205] 3464[1EH BB |FOLRX—D5D 96.86
206] 4167| % Ed BRRA—L A —T5) 96.87
2071 9143|JITE i ERXXF—aH 96.99
208 805]FH & e |HHARAFX—HR 97.16
209] 6310|FER w0 ASA—LAT—55D 97.35
210] 7821|FER w— |ICIEHRR—YIYRF—H95D 97.73
201 7171|/1\Fa BE |[F—L v 98.54
212| 8090| & 88 | EmAx—a 99.85
213 2635 1L — 1 R e =P RA B e AT —aB 99.86
214 3338|&H I ER NEEAT—F5D 100.10
215] _1645| B /= 1T |UNORF—55D 10057
216] 3954 4% BE ZAX—75) 10158
217] 6861| Lik =X |[hoB—Fo40 L—7F 101.65
218]  5096]% TR | ERa PR A B & HAT—EB 101.68
219 42253 R1% —B |7 —FRAR—YRE—55T 101.81
220] 4286 F 5% B | mAx—77) 101.84
2211 3289|:FE ME |o—D79K8)— 101.97
222] 6859|mEA& Bl |RsH LAY — e 102.19
223]  1848]% E%x |/\EFREF—ED 102.51
224 503[F1 =N |FAoL— T F—L 102.85
224] 705018 PRI Y Pl e v P 102.85
2261 8628[1T A FE |Ena PR E e aAT— 103.63
227 5031|a % EX |GODL— 7% 103.68
228]  4858|f& L R E AN o P 104.00
2291 96335 EAREND7ANY—L—0 0 F— A 104.64
230]  8490|F& ZE |[ErBPFRAREBAT— 104.81
2311 5551|78)1] 2 |FounoL—F 104.90
232]  2494]# = | 7—hRAKR—VYRF—H95D 105.40
233] _3754]F% WL XE |7—ILE— F9yx3y 105.70
234] 2489/ il B— JCIEHAR—VYRFT—HTD 105.73
235] 10236[%%& E | RRahERAE EHAT—E 106.16
236] 4599|i8& BlL |o—07598)— 106.31
237] 3908|EH EXA|RSE—LRF—55D 106.53
238  9547|ni& A E AT — (B R ER 106.64
239] 3219|#H % |ovEILART—550 107.04
240 3652|F E El [ ERflesrnrhaeBAXT—E|  107.08
241 s8682|%& EX |FPhAT—EDR 107.21
242 5122FK BE |BZ&8ERAMLAT— 107.44
243]  2782| A E Es] |oxz—FILRF— ’777 107.69
244 3134|53% M@ = BB LA X —pe 107.86
245 3177|EREEE F8_ INTTRRAT—E 108.02
246]  1434|F EX |F—L-E—Fy—-EUk 108.35
247 3347|&L =5 P2 108.43
248]  3391|/ME BA CIAEHFAR—YAX—95) 108.58
248] 6867)z—+> v-75 & I BZN—=r54T L= 108.58
250 4407|F & i MAXIMUMR ¥—F— L5 108.60
251] 5343|5#f e |F—L-E—Fy—-EUr 108.68
2521 10246|1E& gsh |2—IL-9350 108.73
253] 102627 A BH ICIAHRR—YRF—95 109.02
254]  8310|IEE FIEE [Tx—T I RFZ—55D 110.19
255]  1108[ KA RE |BIEBEXEREERAT—8 110.25
256] 5871|BE 2B |5<A3RF—957 110.68
257 59113t B |ICIAHRAR—YRZT—55D 110.69
258 412|578 B 149 110.74
259 6269 F 5% A | iR A E & HAT—E] 110.85
260] 7860|555 A | RRa R AE & HAT—E] 111.01
261  4413|5R1F BEY |[FrRflossAhe e BAT—a8]  111.24
262] 10284|B &) BN JICIAHFRKR—YRF—95D 111.56
263] 5199|% TR | R ERAE EBAT—E 111.97




264]  4493[& A EAR R e A BB AT — 11244 | D
265] 3678|JI[.E — |S—275r)— 112.79
266]  5262|IxA RE |T4VvTRR¥X—H5D 11303 | @D
267]  1290|F#F mA |S—o75R)— 113.39
268] 1435|&=A ZH [FAoL— FF—L 113.59
269 350|=4E 2H |J7 AR RILY 11454
270]  9905|fAR EE |R/—<> 114.56
271 3102|FK BHE F—L5L Svoa 114.59
272 1321% & B8 |EXAT—EH 115.08
273 1188[F & = JREAARRAT—T5 115.54
274 8550|/ N E R = ASAO—LAX—55) 115.75
275 1817| L5 BE |RntesrRhaEnAT—oh| 11584
276] 772614k E= |BAI=—RRAXZ—55D 116.14
2771 9812[#10 HE |BEAT—T5D 116.15
278] 7805|REL BAR|AR—YT IR - Ax—55D 116.29 | *
279 2039|F 1 BN |R/—< 116.36
280] 3684 1ERE KE |19 116.64
281] 3312|2 A= EV ES D e 116.92
2821 1343 =L [FeAY—75) 11712
283 5911 h— /J\a—uﬁix#—iﬁﬁ 117.65
284]  8494| &L PN R PN RAE B HAT— rs 117.79
2851  4164]85A BN RE S %JF%%E;EEEX# 117.90
286] 4039|/NER I3 TS5\ L—o5F 118.79
287  2335|#H K& JUNORX—55 118.83
288] 1596]/IN 3 NERAY —a 5 118.94 | *
289 198 h & i: GODL—Vo 5 119.13
290 1616]F &R F— | BB MAY—ER 119.60
291]  5426]85A E’Eic ICIAHAR—YR*—95T 120.00 | ®
202] 9134|FEE =— | REx—F—LF7AJ—F 120.39
203| 6153| K5 BlE |BEEXAX—75) 120.40 | (D
204 56797 Ex |ICIHAFAR—IYRXT—H5D 120.55
205 3699 F ik Z A —xx# 552 120.69
296]  3414|RIER F— U371 — 121.17
2971 2338[H)II D ifﬂﬁ%# A B e HAT— 121.83
298] 1880 R F B2 |/ —FoRINIS5T 121.96
299 4429 EEF E— |0 ERTAFLAT — 122.68
300] 79425l #al |7—4L Svia 122.80
301] 2989|% K 2] HESRATXT—FHE 122.81
302] 8650]fkH 2# JICIEHFAR—VYRFZT—H95D 122.97
303 1488| K EE e E N 123.32
304| 2154|RE B R e P RA e BAT—EB 123.43
305] 3126|F /1 1] S5O NL—oF 123.65
306] 1752k BE |RofesrRAaEBZAxr— 123.89
307] 6796]#A E A ETDEESEPN 124.00
308] 5421 BB |RRahERAE e HAT—E 124.01
309] 2706[@F FE |Z2xF¥F—550 124.25
310]  3634|= )1 —f8 | RR—YTF7oHTar 124.78 | *
311] 2037|EF EEI E Gt 125.15
312 1241|815 L |GODL— % 125.78
313] 2595|AH ZBH |7—ILE— F9F¥ay 125.88 | D
314]  6856|5EH 28 |75/ -L—20F 126.04
315] 5759|F .10 % R/ —RT—T 126.61
316| 4988 E = 7—)LE— F9%35 126.78 | *
317 31781 BE | Raa P ERAE ERAT—E0 12720 | *
318] 2188|&=HE T2— LLARAZ—2H 127.22
319] 5292 H = |5 T —RF— hn—) 12746
320 7104|T & Eoh BRI RXX—550 127.63
321 1546 AFE nt |[RSa—LXFX—55D 128.10
322 256403k = BRBRAX—557 128.65 | *
323]  1806[;&LL F— [coDL—I L% 128.76 | *
324 550]#5 K = 2/—3 129.65
325] 6384|518 BE |914vY 129.74
326] 2455| KF ZH] |NECFFHRRF—E 129.95
327] 1193[T/R FIH UNORFX—9357 130.35
328] 2718|&10 gk | Ao BFN—=S4T L= 130.39 | *
320 3179|IEH —% |MAXIMUMARF—F—L 130.71
330] 1707|2& = | e s rRAE R B AT — 131.20




331]__7585[1aB :
z I
e § ey [ o
= ‘ T .
334] 8153[IL0T %% U7 R RE—FIN 131.49
o o e T s
80| LLH E3 == ‘_ - L—o2 .
337] _8709|& HE— Zjﬁﬂ\y"’__:/”7 - il
ggg 6392 =¥ e 34\‘;;%_777 132?2
o 1000y EX ﬁrjﬁg 222 132.60
S| 1103 ;;B e [raaaees K:Ts'i%ﬁx#_g‘ 132.80
7 B |RRAESPRAEEHRT—F :
342] 8313|=; %;E I;;E#z;_ﬁ_\yxij:baﬁ:\: =B 132.84
T T T5 A 15530
345 4412l & e W 133.73
713 IH ZI%E‘ f@% T 5T EEAF—H] 13379
347 2640|B = A EE ok SN R 133.99
B RS X 5
zasl 7089 g ?Lﬁ X %@% £ S e
350 gg?g Eiﬁ IIE— BR 7:h;<'a,-i€_@§:\:ii“§ﬁx;\" —Z| 13435
5] I L =g W*&wﬁfgfj = 134.93
352 : e AL HomAr 5 134.96
6129 H DN a__“ =1 ERAB EHAS—E) 1 -
353] 5111|= % iTﬁL\.t_hﬁ_'ﬁ‘yf‘ B 125.07
B N T5538
p - ——— :
356 3322 ;\"HJ' ESh) ﬁgﬂ_ﬁ‘ﬁq:;#%%j 137.04
357 A SR 1-TaE7L AE e AT 137.43
35 6405| X5 EE | EXX TN RAFX—D5D 137.92
8| __7609| 5% BT | 227 138.
359 7566 | H & %: 2 b‘{“ﬁixq—:_);u—ﬁlﬁ 13830
360] 3311|EH T :JF{rﬁL/_yy*a F—L 138.56
361] _ 6971| M 5= AX—BH £5
ggg 10223 =5 _ﬁgz#%—aa; 13233
6307|@iH : SHT(ELRY5D '
Soal 4577 A '—%{f ,Tiif%fﬁpj*g%ﬁt@x#—gn et
366 gig? Jﬁ% AR EEEET’F'TZ/:\'-JO‘;T; L 139.54
i = " :
267 6476|= & %”" W@&W% B AL —EB 138'87
R L5 faracurar—o) 1018
O ] Kl LN EOTE 14138
: o[ 1342[iL O IN S P 141.7
e
6B o7 =Y Iy 73y -
273 6312[/1V K %D,ﬁ E_\jﬁ%j’ﬁ)‘ﬁﬁﬁx#_%ﬁ 123;5
3;2 2361|177 == NTTji-Z\ AX—7527 142'53
= 5493|FER O Z-”f——ﬁf#—_“[‘ 14250
37 6314} 1 Tx |AR— AZSIES 143.27
37e[ 3069 il e e 143.33
B8 & ¥—557 -
379| 6471|EAT {§§ Zi?ngﬂqj?*xﬁiﬁ;@x#_gg 122'37
gg? PRI B Uﬁo;ﬂ;j_\ 2757 143"512
T ?é‘% Eég ﬁi—_ﬁ‘ﬁ%’gjﬁi#_gg 14405
e iz
o e Ba B %5&7@;@;{#__% 124.67
386 947123 fﬁaﬁm ik ICIE#Xrl-i’—‘gzﬂjF— = 14477
387 L 144.78
389 3279\ LU B ZTI'{}—“JIj\_~JX~:\:_757 145.65
ST MR 0 B fﬂﬂ——ﬁ?—!r%%f 12576
Tl Lrs RIS e SR 126.04
4 == —72 :
) M ] %\E %@1@7\?—@@ 4674
394 2%% E,’E %i W ﬁé%ﬂqﬁ*—?ﬁ?{%x#—%ﬂ 132:80
3 T o Bt e E LU 91
e B %Wﬁf—gﬁx* —ZF| 146.95
= 1322|535k — T T I?—»d B & B AT—FB 146.93
g AP [ES S FACD I)—HR-957 :
KER |5 vF (RACH) 147.18
147.24




398] 2237[/Fk HR | TAVITRA AX—55 14774
399] 1106]E 5F UNORF—952 147.99
400]  3803[/\FE S INTTRRAS—oh 148.08
201 8465 & 8 x EEIEETR diF;i;Tﬁx# 148.27
402]  1407| B {FEH R e ErRAE ;_EEEZ# —&hB 148.70
203 5162|H B 3 J—RA 94K R¥—5H5D 148.83
204]  8472|E 5t ZE— |RRi Rk a e AT —ah 149.35
405] 8647|%H EX R e ErhAD B Ax—al| 14957
406] 1892|H D B e % PR A B B E A —ob 149.68
207 5145|115 BE | IEXRET—E% 149.77
408] 3962|FH % EF Nl E SR E S N 150.40
209] 6313 H [ FTAVTR ZAX—55) 150.82
410] 6350|110 ZE |EEmAT—an 151.18
11| 760617 A& FEL | RAR—Y1 =T« 151.64
412 9773[#10 73 ICIA HFAR—YRX—75 151.72
413 6847 EFH HE |2—TATL7—)L 151.74
414] 3910|EH BN |/J—X942F R¥—55D 152.35
414] 10105|= Bl | AT1—FE9FAZ—55) 152.35
416] 8088|= B— |[CEmAT—2% 152.40
417 9967 EF 3 E R e RN R 153.10
418] 3261118 A ZAX—952 153.26
419l 1267|F 1R EN E S N LEEEX#— 153.34
220 2195 A EC | ERAE e aAT— 153.60
21| 75948 A EiE |BEAX—TT) 153.65
222 1286|% H 5 IN Wx# 154.01 | (D
423 74601 Efd  |HHMAT a5 15404 | D
224 8043[HF O EX Rt s B g AsT— 154.49
4250 3981|FAIER = ASO—LAX—H5T 154.71 | O
426] 5193[fRE e |[7HhT3—RXX—55D 15484 | @
427 1359\ & F 7T SADSRF—T50 154.98
428 1709[lLA B |mrflesrRha e B AT— 155.22
429] 1349|F8 22 |_THAZILRORZ—55D 155.38
430] T468[-h E— Rt e s A B B AT —RB] _ 155.60
31| 1371&W AIv R e e rhAD e B Ax—al|  155./3
432] 4005| 5 Z2 |—_THATIRORXT—H5D 156.54
433 809 /& jE] S. C. aamRvajL 156.69
434]  6680|ZE & = 2)—< 156.86
435] 5965 =% ABERL— T 55D 156.93
436] 1805[1LO T—hAR—YREX—95D 157.49
4371 3869 F EEAX—55D 157.74
438 7851|RE ERTAX—D5D 157.95
439 4884| K1 7 —FAR—JRAE—55 158.05
440 5498|EA& R P RIA S B AT —ER 158.45
441 2214|Ef HoBIN—=FZ4T L= 158.71
442| 4896 EH F—L Ivoa 158.93
443 7826 F*E E e N b o 15951
444 2516] & H F—L Ivoa 160.01
445] 5368|&0O FOILRX—H55D 160.15
446] 6700| 5 & TARAX—55D 160.17
447 1865|& R E e N b o 160.26
243 2420 E AR IN—F54T L= 160.29
449 2897 B = EEAX—55D 160.78
450 1878 AFF E e N b 160.85
451]  1664|#H TSN L—20F 161.58
4521 4152[F ASA—LAX—55) 161.61
453] 7006)Et F—I-E—ry—-Eyhk 161.79
454 2341[F 0 SZ)Th AT —ED 161.85
454]  6580|z& = PEOV 161.85
456] 1413 F BE |FritlesrRAhB e BAT— 162.01
4571 4528[ L@ A |FOILREX—F5D 162.07
458]  3346|FFF —8 |BEIEBEXEREERAT—8 162.29
4591 6757|151 B% [BART7IRORZ—55D 162.53
460] 7836|F ik L | LBaRL——o5557 162.64
461] 9256 H Bl |RRA T ABE AT —E0 162.68
462] 3272 ,a,R i I—TI)L-RF¥—-H5D 163.25
463 2638|FiE R— |RBEmAT—ER 163.48
464]  1911[FIER = | RaUHBT AT —Eh 163.79




465] s413[EH z FAoL—S 00 F— I 163.90
466] 4885|hEF E= | ABEN—FSAJ L—UF 163.97
467] 1598| =B Fa |NEMmMAT—EH 164.13 | *
2638|1208 1E ZE— |BIRBEXItRE S AT —8B 164.29
469] 6196| 5 BE |Sa A AT —s8 164.35 | *
470 8309|AIFH FIE |CEMAT—ER 164.76
471]  8804|E#% Bl NT—rRAKR—IVRAX—95D 165.01 | *
472 4327|518 ¥z |[7—FRAR—YVRF—H5D 165.18
473] 1973|EH i T—hAR—YREX—95D 165.57
474] 4253|&F el [ RSO—LRXX—550 165.89
475] 669710 P R E T AB = A% —58B 166.48
476] 2919]/\IE E— BRBRAT—me 166.88
477] 5200 FFF E AR—YT IR - AFX—95D 166.90
478] 3384|FLH HE |[HHASRAFXF—HE 167.15
479 3729 B2 = |JICIAEHRAKR—YRF—95D 167.26
480] 10040| =+ X |Erffe s e RAE @ HAT—88| 167.49
481 4055038 Eah |RE— D) —HR-H5T 167.70
482 2625 %n% F— |BAL—VFRAX—55) 168.25 | D
483 4389 FH [ R ilE s TR A B e H AT —eB|  168.36 | *
484 8129|7r HHIL Rl s TR R B HAT—ab| 16846
485]  7468[iHH 1$m HEHARATXT—HE 16847 | D
486] 745[EHE Bl | F—LE—F5— Bk 168.49
487 124|515 BA |HAoFN—F540 L—F 169.61 | *
488 708 & A EtAN |—F792F—550 169.99
489 1236[iR R |CEmAT—2% 170.85
490]  2834|@R B X H X & T AT — 17151
491 4066|F7FT =i MAXIMUMAXF—F—L 17220 | *
492] 3195| A E Z0 | \EARZ—T5D 173.01
492 5653|i& F—L-E—Fry—-EYk 173.01
294 2116|&F 5] EEAX—T5) 173.14
495] 2016 F EETI E SR e T R 173.61
496] 582142 5] BEXAX—ES 173.70 | *
497 6124l NG F 3 ICIA HFAR—YRAFx— ’777 174.06
298] 9965|iniE E—H|ERHeEETRKAEEERT— 174.32
499] 7783 iEE ZE [RERX—935D 174.41
500] 7186|Mnik = EEAX—T5) 17483 | *
501 2146| A3 = NTTiaZﬂF—ﬁB 175.70 | D
502] 10107|2 = BE |EEmAT—ER 176.11
503 2258|= BEA BHARRAT—BZS 176.29
504]  7633|F%HE FE |[EIRRAX—EH 176.60
505] 17225F7K R |7F—L Svia 176.66 | *
506] 31i|ig= Bw |F—L-E—F5— €Yk 176.86
507] 8807|/EEF £— |2—IIXIL7—) 176.93 [ *
508] 10116 A7 WE |RRahFRAE EBAT—E 178.21
509] 5503|#ER B3 EBRAX—95D 17826 | D
510] 5151|=5& JE R GUHBA T A —RB 178.32
511] 7173 ’r’rlﬁ Bk |F=L vl 178.78
512 970|FE R 15 V) TFUORRE—RIA 179.33
513] 3314]k0O [ MAXIMUMR ¥ —F— L 179.34
514] 1781 %55 EH | ERARRF—ER 179.80
515]  4546|FRE =8 |FTAL—" FF—L4 179.82
516] 2633|iEA F— |RERXREmAXT—E 179.99
517] 10342| EFY 3k E e N b 180.46
518] 5757| K& R& |R/—A5—T 180.77
519 8632/l L= | R h R A B & BAT—E] 180.95
5001 2279|=HH wE [F—£4 v 180.98
521 6863|=1% ZX | R ERAE EHAT—E 181.22
5221 8215| K& 53 BAXEE XILAE S A X —a0 181.32 | D
523 TNER 24 [HFLXF—55D 181.34
524 2007|n%A fil AR s rRAE EHAT— 18211
525| 2164| &1 = |K.S.C 182.38
526] 6979|5F 3 B |)hAT—ES 182.46
5271 5261|/NEF BN [IERAZ—EH 182.64
528 2832|5EF —B |R/—~> 18272 | D
529]  4226]|hiE ZZ |RBERXXF—RBE 18287 | *
5301 341|a5 Ao NERAX—a® 182.91 | (D
531 756]1ETT Bz |RBEmAT—ER 183.05




532 3192]&#5 Tl G T
533 1275|F1L %ﬁﬂﬂ mgé‘%ﬁfﬁé%x#— 18351 [
534] 1970|7E% = FhEmRE a0 183.99
535] 85048k A E R R e BT — 185.03
536] 5430|Fih 5?%77?;7-;’?;11.9— 185.15
537] 2618| A2 [ s 185.83
538] 5407] % £ Zal:l—.L\Z-‘-\'——Z—j 185.85 | *
539] 10045|815 BX W 185.92
540] _ 9468]JERk U o L e e S - 7;#7 | 186,07
541 813208 M ESS e E IR ;JF 186.49
542| 8062])I10 E == %’iﬂ%x# ﬁl 187.15
543| 5400|515 SF |EeET ﬁﬁxi’:ﬁﬂ | 187.28
545] 6278 ER BE | ﬁ-%’lﬁﬁ” 187.85 | *
546] 1937|420 7 EHEESERE BT il 188.29
547]  5140|# M@ & 2ES ;;fix,-'i”t-_—ﬁxi Ef| 18855
548| __2200[H & ET Wﬁﬁ EF| 189.01 | *
549| 3337/ = 5Ii:?|zTﬂf_L AX— 189.97
550] 7161|BI% = mﬁﬁZ:\'—tﬁ 190.22 | *
5511 8393|HAH BT 5%57(#—7—7):”]1 190.24
552 753|Fil = |5=1L 5‘y~>71 190.64
553 7046]FEA SE T =S5 19092 [ D
T MR T ES G S T
555] 3350|7x A = Zv":L—I:"‘yFX$—§E 191.77
Seo ooms[lin——s& [REAESTAGELE KT
557] 1815|K= = ZEnAT 00 AEHAT— 192.22
558]  6457|LIH & NTTi‘-ﬁx#J:TFk 192.35
559] 8006|/\E et xs—g® 192.39
ol AP S =RE[/—R2F A%—557 ol
IN/NE A= T = A .
562] 6135|447 ';2’ {%%5%/7 193.61
563] 1368 ;‘E;’Fi E JoNOR S —557 ESmAT— 194.23
564] 7604]FA 1L pysa ﬁ!ﬁ?vatl;- e 19492 | (D
565| 10299[F% S g ¥ Ty 22 195.01
566] 8488[H7 A€ |[RRa P PR R e EAT— A s
567| 9969|FrEp e R e B 195.67
568|  484| A IL P ECI e ey e x— 196.04
569] 6202|EFF == Dy 'JTVFZﬂF—EJj)\ 196.59
e
NH =Sk W .
571|_9951|R5 =% %ﬁ“%jij)ﬁi#ﬂ*— 198.01
573 8050|=R F LT T FEE TS Pl 198.01 | *
574] 8130|/n7% B |Rafns=ok 17(5&;%11 ] 198.11 | *
575] 7575|kaiE FE 225 —5r57 BEAX—E| 19833 ] *
576] 5513|Fd =7 |[BEmThIExEs—5 19842 | *
i — T e ——
] ; E et e ANt :
579] 8568|#nA EX ﬁ%%?laﬁj;ZL: T 198'79
) ML B PO 5L E U B 19515
o2l a7 1;5% I EXX T 3T N L i EEAT
=53 P = RN R B BB AT —E8]  199.35
2022| T Gt o Al P :
584| 4346| =18 el E i S S S| 19957
585 8332|EiG T hom oS =05 199.79
586| _2018|Z RNl r e U e 200.04 | D
587 467|A = %?1?7\:?—75)5 BERAT— 201.01
58| 4300| &3 T e ExE—550 201.03 | D
589 4522 FE A% |BEEHERAATAT—E 581'07 *
T TIPS CEEIEE T S L 20153
502|  3418|=FIE % g I;E:‘EFXETL—\:_\JZ#—’777 201.60
593|10248[ i =E lEa=s=r55 202.21
504 1430|/=H e —525 202.33
595 1092|F5HE =l b T XZF 202.35
DT e A
598] 5398[/N T —777 20341
7 BE |RBERLRZ—H& 50343




ggg ﬁgz glﬂ & ZEMAY — 2o 204.24
601] 7299 L F EEA xé IZK'F]“FJ?;;— e
602] 2505|381 i3 EBEnas BT o
603 5[55% =R ’va‘J’Jx#L’Jv? =
ggg 8626 Lk AES | RR AP P RIA G & AT —ob 382'38 .
10130[f2 3 S RS '
506]  3269|/ERE B 50t — 25— h0—T 30630
607] 6657 @Rk i |REE AT T 70547
ggg ;g?;t ;;Fzzﬁ gi R R BB AT —ah 2833? -
HE E e T N .
610] 9209|AA BE W%IZ[‘?#E’;’)’QFELEZ#_ 307 25
611] 4358]B )i T — 9—77%')—”“: s30T
612l 765115 BE |=ETAE RT5D P00
613] 83211201 BA |Hia 1’EFJ?2K—17?# E 30758
614 5138[RI0] EE ESEIEEIN 7<’Is*u;"_ﬁx# E 207'95 :
g}g 13833 Erjg__ JE';; REbE ;Js:uvé‘_;;ﬁx# ﬁz 2gggg :
o16] 100s71AE 252 E%Fﬁﬂ;# fscﬂg"%ﬁﬁx#—%z 209.09
6171 8468|101 SR TS P 30508
) BEER] B PN EST %JFI&LEE B 30530
520l STToliEE e e I e
621] 4454|8F P ﬁ?%ﬂ %"%‘ﬁ* B T
T | —r ﬁ:‘%ﬁ—?ﬁ@x’.ﬁ?ﬁx#—%z sitssl
5 T D 2 ST PN "751.'—'_;%7{‘; 555 . —
626] 1370| .2 B ﬁﬁ%{f—;%%ﬁ*‘ﬁ* £ ST
627] 6414JA %K E17 EKIz—szé(ﬁ?mij -
628] 6758|iEA 52:7)1/{*/;(#—7‘77 o4
620 1788|%0l EE |17t 22 =
630] 1296]% @ BN |[EEARAT—The 513'65 .
gg; 18388 ,E'{”g %a R T RAE B EAT— 2}232
633] 6293 3B S F (et e WL
634 1821| B B |FHEARRT—Ba — A
635] 4014tk AR S 1H7-5¢ ATTACKR S —557 215'29
ggg 8131|578 Bk | R e e RA e & AT —aB 212'%
2276 111% =% |BINBEXEREE AL 5 Y3 IO
638] 5276] K7 AER EIZlK?)l/{“/Z—"F—’JE_ = e
639] 3087|=H [ I—7_”')l/-7\—‘¥-—-7_77 e
640] 1902| KA 25 |1ZvF (RACH) 22 3760
641] B133|BH YN R e BN R sTsl
giz 8483[ETH A RS TERAE BB 21579'80
3 1283|E 2 BE |EriflesrRABEBAT— T
gig 3032%‘% thal ﬁE@EZﬂF—T;ﬁ%Lm 2131; *
B S >, )
226 4595 /1N 52 kS gzg‘jax#—’777 213'20
7| 1876|E.E Sl E R e E LNt S
648 8072|FI 2 g% *&%lzﬂ;jf’r’ﬂ— HEmAT— 37530
649 784a|B K - P /\—f~7T7A L—>27 519'70 ;
gg? g%g ﬁ#ﬁ Z5 |BIRBEXERESXAT—8 z;ggg 1
GoT] oA R & R B AT 22051
652 E1i BA | R AT A B B BAT—ap 22095
1862| B F A |RadesrRhE e BT —8 '
654] 4336|EH EH /=20 F RE—55 = 321'14
ggg 2003| EHFY N E S e L R 23”3
14372 o | 3tk £ AT El R '
657] 3756 K AR 2 i§77+17-x§3:-n’17‘7 i e
658] 4017|KR#F ’%* ABIN—F54D L/—~>>7'7‘ el
659] 1867|XIF TE |Erfie e B H AT —o a2
660] 4464|i5H 5 B b e 5 E"J*17§E%EEE s o
661] 1789[:5/K 'f:f\yl/ﬁ—; ’)5 %EJZijF_HZ IR
662 9650|F i ?—A-t‘—ljb—-ti“ T
663] 4449 K& EEE iﬁ%ﬂﬁf%%%*ﬁ*‘%;x# 2o 24
664] 4050[#E EES 73*/9/\—&5?7 Lﬁ/tm Vi — TG
665] 4455|% I e U s
PaLs = R ﬁLmZ#'_ 227.18 *




666] 7357 TRk BiL [IRXFT—EH
I e —
5713|HE F=E I—F = A8 | *
669] 6644152 L] a [o— ;IE, @Z)jl«'\/;@ 932 227.86
670 6556] 2 & S ET e e 227.96 | D
6711 3005[#3K E— 75>/i>-|/—~>7>/7 22799 | ®
672 5351|EH#T N P €S 228.50
TN - e
- SRt G L U NE DAY :
675] _3310[FHE EE%,ZEI:EB :/f*}[/[‘_':'fjgjxﬂ B8 B AT —HRB 229741 D
676] 8039|2 & = (FEE R ETE 230.04 [ d
677] 83525 A 78 [REARSERRTEEAT—a] 007 f +
678] _1260]/NE M ER s R e 0.12
1) ) 0 o BN ¢ T L e R
580] 6860/ R Ed k5 m;u? T:a_mx#— 231.54
681] 6173|Fr A<+ TR -k ey 5 231.70
682 820|Fk B e o s —559 233.60
683]  1311[£%F ZF [EXXGF—aF 234.22
684] 24545 & e LR — 7;17 234.37
685] 3552|FF 3 e T v L 534.78
ggg e i SRR = A B 8 B AT —ap 233?; *
1939|/N ik SR E R R e e E R — .
T g 3 26 = ——
343| 55 EE E R e E 2SN :
690] 7625|558 = G(I)?DIE'E]—*‘/if; BRMAT— 236.99 1 (I
691] 3093[&F 2 onAr o—FIux 537.27 D
ggg 1457| % 3% — i A E TR AR e B A —al Zg;gg
694 12?22 ;%Fﬁt& ﬁu% ZHS *’ﬁxﬁx#—g! 238.30 .
Az A IN—F — A .
] BRLEY) O SR 11 AT X
R e TE S REXEABE —m | 2 |D
e M DTN et E LY b b '
600] 2500[NEF A |DEEDSE AR AT o
700] 6548|pEE FES AE?X:\‘—%TE 240.93
701 6706]L00 N et CE S S e 241.66
702| 6656|& 18 R Y s v 241.82 | D
sl e 128l
12718R BY B ReseRhEes '
3 Rl &S F 7K HXEX—
20 N . S 2 ilhsieaee= 7753
PetlL CRE R i e B R B AT — '
7071 10239|TH#7 = T TATLT—) i 243.72
708 10064]/]N i SR ERt e e R R 244.34
700] 3453|55 tE [eheanmE 244.37
AT 10— bt T e e 0
71| 6370) R BE [RAZETAE— ;#n 245.06
712 2827k < K F— :Fﬁrmx:*'-—ﬁ);ﬁ 24508 | *
m
K MTOCD G L e WL O
) MY LS E AT RE R A8 89
715 2639:%F =& mﬁﬁx#—‘iﬂ—m = 246.29
716] _3249|#% EE [AAL—TRE 55 246.65 | D
717 2668/ NFHH = [GODL—=S155 27 24711
1ol Toio[ Bk N EITE £ N Y p e M TIAT
) Bl A ETR T EE T T R '
720]  6369|fEE BE |EASKEhRE—28 i 248.25
1] T N ESN [ E T E N T RS WO
721|__8311|&0 e ‘J_?)‘/g'i’j:ﬂ- — 249,01
723]  6842|& =5 A7 =X ,7777 339.01 O
724]  4495|A1F B3 f-—%ﬁ-m 9.16 | *
R e = 2R A B e A —H]
L i AL ity rl bee mmIAm
1) W O (N NN ¥ [ 5375 14 Fee e
727] 4267]E0 I ey f e L 24958
728] 6707|;0H o oy ey T 249.99
731]  8762[% @ H HEEBER R ALAT— 25148
732]_6100|& S e 251.94 | *
2z 25232 |




733 57200& N0 —F—
;gg 9929| = H ﬁ%ﬂ Zﬁ%i‘%’?ﬁrféix—u_h 22521 D
3050 7 T AL i eTRSET K
736 781513 .F gf’?ﬁ: ﬁfﬁﬁ'\aj—g?j ELELX#_% e
7371 70046 B &7 BEX |RabeEohhe 5//7 e
738l 23291 {E R 2 JeobL—~o e
739 2451[/hk 7 INECIHRAX—5% e
740] 805911 I ERt R L et
7411 3372| B FIE NTTﬁz-;-zﬂFjiBﬁme#_ AT
742] 9906|# e : o
743 2652|HA = TEFRAE—E® 23669
7a4] 8128[lB A T E It E TR I
L QT e e 2o %,f B R A+ — ﬁ! 256.89 | *
145 STeOE L PETLL % ﬁaﬂg;f# 2 258.10
747 4128|BR[E F&E D on- I/—f L7 s
748] 2024 ZE TE Re e RRE ED = = 25999 1O
7491 5817|H0I EZX 'r‘/r*/l/—:/y’; %EJZEZ#_ T
;g? 247151')(7) ,%% TEI;EEE Nﬁé?égr[i_qﬁ%&ﬁﬁﬁéﬁﬁﬁx#— gggg? 0
752] 8356 & 1| =0 /h‘-‘zrt'r:/":ll'i?f;’]i? o
753]  8543|EER TR |RERAE—T2 T4
754]  5238| 2R % ICIEREAR—YRE—F5 ST
755 2172]5% L] Rl E R L o hE D
| ——— S LED ) e T oerie
EE [1—IXIL7— )
758] 6590|IL TR ICIE#XTR’Z‘J:Z;—’J‘v ot
759] 10259]:Z+F #ZZE |[7HhT3—RXX—550 2 S
760 10198} AT FE |Ra B P RAe e HAT— Se55
5480 B & BABIAZE A—F540 L—>5 >
762]  5344|fnE £ FRhAT — B 2304
763] _5I2|EE e R L Zidn 1
764] 61251 % 2 T |ICIRHAR—YRAE—F52 e
765] 2046] R Ep R |Rri e srhhnes 7;@;—& ol
Teo| T0047|5HTE B EE %zs*cwg‘ﬁtix#—gé T
3] WA L e
768] 1316]5 B s RS ;7*17@5*%1;(:\'-—; o
;gg 529469 %ﬁx BA_|FPmAT— ifTﬂ = gg;gg
028]%2; W '
IAL] 1 Eig %:%ﬁ /J\ETiﬁiK;jfé_ B h A — 268.62
772 2831|1Ei& JON rb:—v-)w;@;n 9757 e
;;‘31 8466 %E? # R e = A a8 A —ah ggggg
] 350 5T |Eafes TR AT '
775] 9957|&F EED 73*/9/\—&747 |/3:~m — 2
776] 5722| 5 F AE HEEXXFX—HE 22 %
77909915 85 | Fer=® AR —El T
778]  8449|{Eth M ESR I ET iEﬁ EEJHE? —& L
779 778|F £ %R |EHK s—8% B R
;80 4196[%7 T |ICIR EAF— J‘_Jn;# —557 23;'97 L
73; 1280|F 0 B e e R 272';;
17043k A L LT L LU R '
783 3101| & 3 B F—1L Sy . e
784] 3010| = |- THA7ILRURE—55) szsela
785] 8476 &ER BE ﬁﬁ%m%#&%%ﬁﬂﬁx#zf‘ﬂ -
786] 3369 1LMA 5 SHT RV AFST S
787] 5762| K% 7 EE T E N e
788 10219?:"3353 Blf ﬁﬁlgﬁﬂp?—&%aﬁsﬁéﬁ? —Ef R
1891 5629 Hﬂbﬁ BE |HE1—oRxE—05T ALEH
FIlE —FRR—URE—55 )
;g; ?;Jgg éﬁﬂﬂ FiiES ?tzl;\@tﬁ{_ﬁg £—227 33232 L
BE |Rohesrhhe i BAT & '
193] 1809 ﬁgﬁ% %Eﬁ EGLEEE rsa—;rfo-aﬂxﬁtixi—%é 77657
795 T0098[;Z EHE I%fz?é “:ﬁ%xﬁ# 522 2
796] 1266|/IT.E N LI 2 = ST e
;g; 2237 E}xm# &’ BHRXXT—EBH gg;g
87157 £ EBE |hoFN—F54T L—F ) -
et iz IIN—RoAT b 0 276.85
EES Zi | R AR—YR 5D 27715 | D




300] 6298]H &= 2 HA)T4- BT
801] 8317 &k £ | KAORXBHAT— P000
802| 2150 %5 NI E e RN 55047
ggz 6585 %EE B |7hrs 2550 A ggg'gé .
7854 7K1 S IN—FS 5 )
ggg 6671 J7%_J:I ?(;EE gii/\a‘;;;ﬁ el gg}gz R
9961 |25 A = = e
G M 65 ;Jgietmaal 101;5;{7\-1-\ TAE—757 28154 | G
e Iﬁ“z% 755*” r;x B E R XX —E 281.65
809] G131|EFH &L [T vIRRE—H5D S
810] 10329| BT &i&  |ICIRHAR— X557 ST
811] 10096]|7ai% AE |ERA =R 7<’Is*u;"_ﬁ7x# B 322'46 L
g}g 2009] i B— SR ETRAEEEAT 232'86
18741 = R e ST RA e e E AT —a o
814| 42963 F F O |FHRET—5) S L
g}g 2812; %% N B> ATTACKAX—757 ggggg CP
=) 115] Lo P - - ) )
817] 1912| ALk %;‘nﬂﬂ %?Z/z/ﬂ:jﬁé# 2 S
glg 2260| & H 5 I YL EE e, gg;gg
5711|854 A =) ‘ )
e s ;Em' F é\TB{ A —/\ X#— ’]77 288.35 | D
821]  1903|LLE REA ‘3%‘(F';,]ACFT) RO STy
822]  6662| Bir [ NTARR—T 5D T mo
823 14672 B e B S R aoas
) TP =5 a4 EL“//;‘—- D Ama
37| AE = S )
e [?E_ J 517\[?':/; 5# ’777 291.40
8271 8333|ZELL N ST EL~ A= A
8264207135 EELT e R 017
ggg 15522 /T\lliy Bl |ERaihERAs e aAT— ggjgg .
831]  3107°FH S5 #gyﬂx@xfli‘ﬁjjjﬁx#_ ot
832 8134[B> BA ﬁﬁ%ﬂ%%%ﬁ*%* E =
(1 IE A 2 SRR USE L x# 294.76
) X EL 8 3 ,ﬁ‘ ;EIZX:_F AEEBAT— 29518
835]  1949] 2% =% |BuE 1’EFJ?X%J:§=\'-— A
ggg 1?% %;& %E—m Eﬁﬁiwiﬁwﬁﬁ!ﬁ;#—%ﬂ ggggg 5)
557l 1726 73 SE |En e hhE e B S —88| 29609
538 AR BA | ReBeEsRAhEaBAT—88]  296.49
Tosa| B K St R EE LU DR '
aaof 1006 fiﬁ R NIt R W K
7 E R N )
842 8828| A% ?E%ﬂ /J\?E:ﬁiﬂ;jiﬁﬁ e T
gﬁ gggg E H% ;a‘;kt A B Rk B e EAT—Ep §8§§§ 5)
2 o s ig% %%;‘gf,j;iﬁgéﬁx*_ 30042 | *
gig }ggg %;ﬁ EE |ErfiesrRiheEd AT —80 ggg%
847 i BE |Eefesohha e BT —8|  303.20
(Z5T] TN S | §-%1FE £ 3505 5 T b IIE)
849] 8359 B EExi—r50 i e
850] 2242 i & EY AP G U S0aToT
8511 1300]FAK Bl |mafe=chheas = 01 1a
851 3924|E =F |9 X557 REAT T
253 2452\ A& 3Lk |NECHFFFRRAX—E 282.14
822 5825 HEE E E e SR e 30535 CT)
) MO NN RRAa S T RAB AT —8| _ 306.18] *
550 6132 R BA |Eoioeoh kB am A% —E|  306.36
1] MK E-3c ir:é Zﬁ?%ﬂ%“—zﬁ??ﬂﬂfﬁEPEEX#—%Z 306.99 | *
859] _3621|fbLL S i%%rsrfj?;g:;ﬂgzﬁ o
860] 7089] 3 E S Lt Cr 30509
861] 6122|KH e Av‘-‘»rxﬂ-i’—‘y’yzv QXN
862] 10058[F 3+ ol E Xt %#"%Eﬁ B A — 20551
863  8616|AE E—8 ifﬁ%m%ﬁ e A —“B 3057
7 ML S 5 IRk —2% T KO
7|ZE Sl E TS )
Seo] 1997 ga E_J ,;1 Ega'r%’xIﬁEﬁJE%mx:‘f' | 31117
1% R PR AR B BAY 311.24




867] 5483|=:@& g |HhUFN—FF
—r240 L—=00
868] 1390|/NE = AR W/ 311.72
869] 62741l | BN ﬁfﬁfj'\ﬁ—éfj EJ_‘?'%Z;F_%B 312.14 1 (I
870]  1448|E & =X ST RE] =< 31256 | D
871] 9960 01 e e BEEAT— 312.78 | 4
872  7623|F & nx |mEaBRAX—050 313.87 | *
873] 2647|i& Z5E EZ'K;’I'\I*V‘/Z#?—Q—j 313.97
874]  4614|;E10 BE |F—54L Svoa 2 215.13
875] _1744|& 1 e = 15.46 | *
1 7 REANE 33 & B5 —
T e e
8 [l E L N '
878] 2095|3@%; EEX|TIIL- = o jj)-l_]mf# &R 316.09
R S 7 s St e
= E_ | n e s A e e BAT—4 '
88| 1064k BX HE,;’-;;;;;;;;@; ER| 317.48
882 10031155 B |Rntearn 7(",5‘?;@;{7;\—._11; S17.60 @)
re— e
=% K 785 RA%—05 '
885] _1369| ek BN [Rm e ;FA 2722 RES 32028 | *
886] 5353|= =m |5 T-I-TX:\'-_ijaﬂ A A% — 32035 | (D
887 1272[E = Bl e e e A A — 321.67 | (D
888]  5735| K74 2 e RTEEREATA 322021 (1)
889] 1812]|H]I B [aaAh— \ij;;;n 322.53
890] 10068 J-H% 25 AN E TR A E EE A5 252.71
891] 1870l % AN e e e e e — a3 3.22
ggg ?;22 ﬁf-} 1? ﬁ-:‘%ﬂ_‘.%%_%wv;,:—g—ﬁx;_g; 35322 *
A ) 71N E 33 3 —_ -
894] 6637l E E’Ei ’7;75%_’— rb%l’x17<£:§§§x# | 32382 (D
9] G40\ fiAk [smme A AT el
R PR EL S SRER E
57 B |7hrs—Ax—03 -
e | R esE R
98| E R =T = g ) .
500 100|EEE %i ﬁﬁ[‘;#f AT EEAT— 32641 | *
901] 4372|F & G D 326.54 | D
902| 22 11|EE 5Ty SR SE L N ] 223.17
00 T L B S O 2 i1 = s A
ENt T < :
905]  3429|/N 5 ?g' )J‘;fj;ggfﬁ EBEAX—E8| _ 328.89
906] 10273|#E B o5 —FA0 L—oF 329.54 | @
907] 30800 LI S NSO R — ~ 331.32 | G
908] 136451  —— ) 331.37 | *
909] 5773|F % ] 7(EEI|:191FJ?X—‘3FLEE 331.72
810 80615t 3 RE R e TR e e TS —5 325.64
ERR) BRISCRT) R B e arshnag i —m s
913 2?21 o EX |FRATFRABEEAT—R T O
914 1242 T E [moBesrhhaaBAs—28| 33603 *
915] 21451 AR |Rafes e RhB B H AT —8|  336.17
916 10002 E’* B |[RrflesFRAaam XX —a 33653 | *
917] 201 ;*-, i AR e S TR A EEAT 8| 33659
2|25 N EE e E L R :
stol 220[E R BE [REBSERAR i | %76
) T —) E £ L% U £ e ]
D o b Sa55
2 IJ_I I}?E AT IN—F> — = .
522] To06[ AR D a— 33991
923] 10332|52—F4v7 0SE | PAIIN—FoAT L—oF 340.15 | *
525] 4060|B =E 155535555 343.70
les b jaimgines | oan)
= k2 SHEN—FZAT L= )
7 IR Rz = ﬁfﬁﬁﬂm’%’—wxﬁ;_mx/]ﬂe—%z 4658
7T R BE | EafesrRhe B E AT —a0 348
1 IOTI [N S W T E [EE 5075 11 Fee W N
ggg 2613 iR EX ot CEUS P 333;2 D
Sealts Fh_|PFTN—FSAT =0T 351.02




ggg 10195[= B0 | BRILAD I P AR A 7 B AT — BB 3515
1733| SRR LB EE S 5 552 2
936] 1889 K% e T T s T 352.21
937] _ 5764|kaH1 A e =R 7(ﬁﬁx#_gz ] 3.05
938] 10000|7~J& A e =R 7(ﬁﬁx#_gz 323.20
333 gggg %5 jjﬁ"gf"" ZRREBEAT & 353233 *
41| _8452|Em #&%‘/7 B ETNAY KO
oa2| ss6ilEA SR AR — e
943] 5379[#AK R L=, 35559
944 s124]:& R e s RAB e BAY—§ 35599
925 2203 12 Lit E v b e I WG
926] 8307|5 KODIRF—555 REAT B 357.86 [ D
947] 5733|—/3 A/—32 Z 35829 | @
948] 1392]30 3= R mEFrRATERIXF— ggs.es
9491 407077 BI-> ATTACKR o — ’777 e
950] _ 2292[;&K BT AR P AR A B AT — 9.40
951] _8327| &Il C e 359.46
952] 8451 m'%mrf e N E S AEEE 359.85
953 4892|=; ,\5‘ [‘,]'E’ FRAEEHAT— 359.88
==
954] T0136|F% R RA R FRA S B HAT— S
955] 5383|HIH P ARORE—% L 360.90 | D
956] _2091|R0 ﬁ-’%ﬂ_"%ﬁ% 38120
957]_7856] 8 A =S5 Eg HAY— 36158 | *
ose] 174l ﬁ%ﬁ%ﬁﬁﬁﬁ” 30280 [ 0
e NI ) ﬁ:‘aﬁfﬂﬁ%” ool
] K ke HAL—o7 xﬁ#u}l]f? . 607 %
3131| KT e .
T IR 2 E;EBE.—{J %’?ﬁﬁ;@ T 370.32
963 8336|F & H BN 51D EL‘//O 371.24
S6d] 2221 [BA E R A AR A R
965] 10292|FH ﬁ/’:‘f/\—h;«r;t % OB 37212
9661816l FEEE s R e
So1] To117]5 8 SitEius ) e
oes] a0l s ETEFE R
692|= e . 99 | *
970] 2008 R LR ﬁ%ﬁfﬂ%ﬁgx 374351 )
971 4539| R A & et AEHAT—H] 376.64
o72| 84TI|RE e o g 37721 | *
o73]2032f A% R E v O
o7a| za1o[ B2 3 GE TS e i T
975| 9958|{E Rk D BEN—F54T L—""75 378.58
976] 6275 :m TN 519 I/—;;a‘ 378.94
77l 2265/ et T W
slabn ERCGIEL S 37
979|  1826| Bk AR RRE RS —E 79.90
980] __6661|/1\# R —&F|_380.70
T [y £ it e T e ] WL
ggg i106 ;% E G =Y N me_—; % 32:8(7)
054|470 FSUNg L= —= :
= L=
984 86181 S CCE YT R
985| _1723|@Ep e n A 383.45 | D
906] 23567 LI e
Seo| TooslER Wﬁﬁg—wﬂﬁﬂx#—gz (TR
989 6623 3?2 fﬂT&i-F’§17<fﬁEE§x#—%z 385.45 | (D
990] _8646[5ain iﬁ}%ﬁ—fﬁ—:@%%% 551’5’;%—% 386.09 | *
991 3922|—FE= 7;;“(;3??:;5 EEHAF—A] 38715[@
992] _8173|F & Wﬁ%—/_\ 387.47
993 3243FEE 7%:/\;?’7/_(5;_*,7;7’-1::174*— 387.54 | *
o0dl”_s473lTEE S E RS £ WY
B An LB e AT —5| 389,
T e v E IR BB AT —F 39076
:/ ~ = .
508| 5136 A% REserEREE 391.04
999]  2185| MR 14]”47\#_,]5; HERHAT— 391.07
1000] _1393|&fE R AMIES 392.74
2 = 393.29




1001] 8505
1002] _ 2266] & RN R e BAY—o)
1003] 6862|727 St B R 39347 | 1)
1004] 10194JF & AR N—TF54D L——5 393.50
1005] 5387 AR R ﬁa_mx#— = 39359 | D
Tooo 1754l e Toisi] 3
711276 TR e e R E B AT — : *
1007] 2320 —HTAELRTTD ZB] 394.74
1009 10135|% Rt LN o 396.77 | *
1010] 2263 = KEP%‘;*w(FgE%E L 396.77 | ()
1011] 2174 W“%'W(%ﬁx#_i; 398.04| @
Toi2| 1314 L 308.33
1013 S R, HiEaAt—al 398.36
8456 e R E B AT —Eh > .
e e R e
1934 T—TILURE :
1016] 8127 ﬁ%ﬂfﬁ%&x%x# T 399.58 | *
1017] 10115 RabE *’i”"ﬁ*u;"_ﬁx# ﬁz 400.80 [ D
1018] 5356 7;'?17?'3% A B AT — 282.09 *
1019] 8453 S71r—Jx 60 | (D
1020 2264 R PR AD B BAT—F 403.25 | D
1021] 2057 B *17<F37r33 1 403.49 [ D
1022 = S e A e B AT —H0 403.94
1022 540517 #._J_%I/%Mﬂs*émx#— 204.12 | (D
1747 Y=l =] —y/77? .
ETR e =S =
Tozs 31 EEinsiiees —
319 G e L 4L — -
1026] 1825[ 1k PRt LETUSE ’.ﬁ;’fi = 40840 | *
1027]  1757]= Wzﬁxgﬁt—ﬁ;;ﬂ_q 409.68 | D
1028] 5336 LR AR %73?17‘%?(:\'-—3; 409.69
o D D -
0] 3265 ZEx—ISIRA . *
1031] 10156)3k FIVEFT)IL—T 412.49 | *
1032| 10346 R PR A AR EAT—5h e
o LR USE L HosrTm
1035 %g;g = K.%%;j;i;%a#ﬂ_ﬁ; 416.84
1036] 10128 Rabs %’3?17‘%%#—3; 417.36 | *
1037 10256 7§§§\B¢I%*§$ELEX:\: T 2}2'33 *
038] 10017 FEI—RXX—557 74
1039] 8621 %mx =% 320.02 D
1040|1914 R PR A B B BAT—5) 057
ot sz
2317 TARAN—YY5) Jo 1 *
1043]  5085[; Eﬁﬁgw?*ﬁﬁ‘%ﬂ?x#—gg 3:24.27
Toss o0 NTAAR=9757 A
5] 2182 TAARN—Y757 184 *
1046] 2089 R AP PR A B 1 AT —E] 425.66
1047] 1731 iﬂ%l‘%%%z*pq:ﬁrﬁﬁxjg_ﬁ; 42574 | D
1048l 1376IF M EE T A R RS — 22931 | *
1049] _ 5380|fIE A LR R T A 429.49
1050] 762003 INTAARAR—YH5T = 43141 | @D
01— S e 15519
2 X .
1053 ZSZ,E F = ﬁﬂgﬂﬂlﬂ?*ﬁw%?ﬁx = 434.67
1054] 10072]f %’ﬁ ﬁﬁ%ﬁ?ﬁ17(%¥;¢£n 435.20
1055] 2282 LES RS ETRAGEY At 43524 |
1056] 8125 P | e
N ?—_Fm_ ! -
1057|5492 x; f%:?mx£_ﬁﬂ 237.09 O
1058 3398 52 N{?}iﬂf*xm - 423-(237 *
o d T 13963
e e e PN 13983 [
| LR B A ?ﬁ"?@x* — 240.18
1063 8236 B BA ﬁp&‘,\ifﬂrﬁ’-gﬁx —&8 47576
D ML BT T e 22645 | G
1065] 8450 lEpaE ﬁ?ﬁ?ﬁ?z*&’ﬁﬁé{“ﬂ - 44888 | (
To66] 8047 [ 5 H iﬁ[&ﬂ'—%$$,§1,<,ﬁrijﬁx*—gl 248,97 | G
1067 623|[E E T i:—JTi%n T B 450.07 | (
1 SEFRATERRATF—H
B2 ATTACKRX—55 B 450.86 | *
22 45136 | D




1068] _8643[ &3¢ -~
1069]  2005)/]M1I YNGR L T I YN Y
= =
1070] 10061|=7 %Eh— e ;z;*ax;,g,,;'-—ﬁxi “é 252-45 O)
1071 2192| =8 B a2 B S P A R 2 0 A & — B 423%2 0
1872 10024[ & H S AR KR E & AT —20 o 0)
1073 10345| & =75 TS *’%7"@1# 25502 0
1074 10060 515 Eh R Ku:: FAX FE BB X — ﬁ; 15609
75| 2107|241 BE TS e FE BT RE—E| 4583 Q
1076 10025 R %0 ESN RS EFIR KB 18 B A X —2p 459'96 0
077] 10016[74E =& G £ 35 SR R ) 5@
1078]_ 2400|/1NIR 7 +£Z oS AR EBAT 8| 4 29
1079 10112]7E A ZE VEIN—RZAT L= - 422?219
000f 1907[EE X BRI E LIRS T
1082 205111k =7 ; KT S EE AT — —&b 26412 | *
1 2110|E& R RS TS T a8 X X —E0 1650
1083 103280 B 7;?_\[‘.'3’ FRABEBAT—) 467'12 ¥
L i 7 L A
oy Ex RE ICI%#Z?"*@;LE&M— 27084 | (D
\NT — ) .
1087 10134 %7( §H§ Wﬂiﬂ%ywﬁ—iﬁgzzjq 231-94 0]
10 = e E e 2.02
1023 18823 %% Ei'l} /h‘-‘zr[i‘{q:ﬁ%—)j;;:; AR 47364 %
1090 = EDNI ESX e RN b 474.60
T e e e
5500]/]\% =5 AT Al = ERAB EHAS—E) '
1092] _1007|A M 55 BRI T T2 At
3] TR T e 1 N i A
il BSE: i e R EEEAE— '
————— —
- /1N = * .
[0H BT ii ML EEIE iz%ﬁ%”_i‘ 485.83
1098] _7853| AT = ﬁ#ﬁ_"‘“ﬂlﬁ%&ﬁrﬁi%ﬂitﬂ_ﬂ 49199 1 *
1099] 10111|fRIR = ?;90"—'“547 =i jgg.se @D
Hgo 2151|351 BT ?"[‘/zﬂF 557 495-‘21; *
101 10527152 L R S A 2956
A Pk i L e rE 1957
1104 5?28 ﬁ?i i =5 iélﬁiﬁi’%ﬁx*—%‘ 497,83
I BT E SN 3 L5 35 2 b A b s e
1106110006 e T ﬂﬁ%ﬁ% LSBT e 50420
107] 5254|dL 8 B Fisiitil pe MY
1108]__2029| K[ kS i;-_—;‘—j-‘:-—ng%ﬁ 509. ;
H?g KT b 3= e HJZE,I%;'\BQ%%X BB BAYT— 510'32 :
2 T4 *
1112 227136 f& X3 iﬁlgﬂﬂp% M;(%X#_;; 513.44
Tl E e E . F St G ;@%aﬁg;ﬁ:g 573.80
i Sor &is %Hz jﬁgﬁ:* BB T AE—E] nos
el ors g:’iﬁ %/ ﬁZﬁT\:?;47 =<7 IR
3 B = L -9
e
T R HLE RIAT EE XX —F :
Tl Toz82lili i1 Iﬁcf’%%;m%%}mxﬁLﬁx#_gé 522841 €
b I e i ﬁﬁ%z\iﬁ%aj Sas0]
1122] 8634 i% %E%EZ:F W%JQK%;;&_E% 925.80
1 S ; E Rt RS —&F| 525.9
o ML - — D eonan s 7561 ] ¥
11251 10 =l FE AR s B8 A+ —a 52758 | (
1 0761+ =l B5E [Eanas FTRREEHAT M 528.
1261 103188 F e -l-"jlﬂzrﬁ'a%_F ERRE | swerlc
IR e e Smels
7 =, 18 —
1129 6582/ NHE gk ;ﬁ%éﬂﬁ%—?ﬁxfﬁx#—gé 223'27 .
1]30 10043|FT &R BEAED i;%éi%ﬁﬁﬁ— 540’22 .
1 13; 12084 N & iﬁ?ﬁﬁi’mx#—%z 540.33
ol — = R = 15 :E? .
1133 3833 HR B ﬁfﬁ%{&gg%ém%ﬁx* —ZF|___ 54051 [ (D
11331 SOTSHEAI B T e
102978 K FE [ICIRE AR @x*ix,-;_ S *
X959 548.30




1135] _8354|2/R
i=) FE I R =
KL e i o T I
1138] 10011 {Eﬂg EE HARHF xﬂﬁﬁiﬁ[ 549451 (D
1139 _10173|=& E’f ERIEE L U P b 549.98 | D
e
10205]#0)11 'ﬁlZ e A B AT —& :
1 = A St LR N BT 559.9
1133 5309 E =EAH %%%Eﬂ*?iw%%g”_ﬁ 561 12 @
e s e UL E L 561.54
144 103351 %% T :E”RQKEP% RN B AT —oh 562.07 *
I i% O z'%x#%;%vzﬁﬁ — 565.48 &)
1147 ] I Lt EE U LT —&R|  567.92
1148 3357 > LBk Wé-iﬂzi%” —&h 573.46
o237 R AE/or ¥>9+x#ﬂ;ﬁ’5”§7‘*_%‘ 577.01
LT W P ML EEIEEI S P 579.76
1151 LU EFS R b RARE i B A+ —Hf 58211 |
o LU S | ot FRABSEAT S| 658487 *
TTes] Ta020 el ki = rs:pi-iﬁzi—g;ﬁ” — & 587.77
1154 33 B S XA TS EAT ] 588.94 | (D
1 10003[FRT  BF iﬁ;ﬁ%ﬁ%z%pvﬁfm_gﬁ;@_ﬁ e
e L el EEAT 1|  594.04
1157 10022 %m BEARD %{%F‘“E;@ﬁxs’ﬁgﬁxi_%l 595.61
1158] 2 i ¥ i ;f”“f‘n”_ﬂf‘ 596.03
INET) MOEE] i M ERE IR E S US T U i KD
1128 10169 £ R '2 KE fgx"éa_ﬁmx#—g; 50709
1161 18;32 T Ak e [s:pi-ig:i—’:ﬁ” L 50256
1162] 10163 ﬁﬁm g# ﬁ/ﬁ/\—f\%,r;’tmii;"‘ 60407 | D
J = = 605.
RTINS e T
1165 10%2; %g 1??‘]’\ INT A ARTR— \7;277; ) 610:98 [©)
1166]  5732|1F hg éﬂf’%ﬁ“#j: R ST AT — 211.39
1167] 1439|#R 2 ﬁl% thE#Z'I'\ YA X — 777 615.27 (@)
L e TR
ol TotelE MGt LE] ;ﬁ'%* 624.25
1171 2482 i CE E¥ BEIJ%T«;;F?ETT%X# 625.49 | *
1172|2303 H%ﬁ BE |anBry %17(%;(:\: i 62868 | (D
1173] 10151]% % ﬁﬂ%ﬂdﬂ?‘ﬁm%ﬁx#_;‘ 630.59 | D
e EE ﬁ?ﬁzg-ﬁﬂx%ﬂx*—;‘ 634.50 | *
1175] 200 e RE | RnEhE = ﬁ%:\:—ql 634.82
1176 HEAR 35 ﬁ-’%ﬂ_":"]_éfmﬁ"mx* E|_ 63853 ] *
i 8032% &’ R BT PR EH AT 638.81
11;; 10227|FA R e /ﬁﬂ%»rg[‘xﬁf%%mxﬁﬁﬁx# & 03881 x
T ~"—" = . *
50 B Jjﬁ% P ﬁrﬁﬂ?ﬁzgﬁa . 641.24
T80l To1T4|EE I BT 543?_*7(%%;(#—“3 644.60 |
1181 5713““ E ﬁ:‘%ﬁng-ﬁ;(%ﬁ;”—%‘ 54577 | i
1182|5748 :;E;v Hia iﬁﬂ‘TﬂP%%x%ﬁx#_Ez 646.36 | (
1182 10140 1£J|]|’ ééﬂn ﬁ?ﬁﬂ?'i«ﬂ%ﬁﬁzﬂ 252.42 ]
1 BEE |anadek : 52.5
1124 8120 L AR ﬁ—‘g%—‘fiﬁmﬁéﬁéx#—%l 65252 T
1 3 KR XD 23 = ﬁ?%uﬁ( & B A ¥ —Ef 6555 0]
e T =5 BRTE m;4;¢: 2737 ses 36
1187 2055\ 0 3= iﬁ'ﬁ‘%ﬂ_—"—‘;‘mj 772 664.06 T
Mool Toreole B #Wi%:217<¢%ﬁx*—%l ot s+
i3] 7 o e FRhEEH AT —E '
T190f Toz2s] 7% S AR N 6 i A [
1192 8(132(1) E‘ﬁd\% @ﬁ %MW:?#%ZZE;?EEEX#—”B G03.10
7 E e RS :
S e
1195 13?}5 gﬁ:% T’Ei fﬁé%ﬁﬁ% - 676.01 | i
196l 9982l A St R i—fg%”_ﬂ 677.02 | G
1197 1082735 {EWK BE ﬁyst,\if?;”‘”ﬁ”_ﬁ 677.75 | G
= f‘——Fﬁ-_-z‘ L—>27 682,
EETD NI T S e easa ]
9 10337 E 28 o Ea PR EHAT—E 685.86
i o] To20dler3 Z EE] _XjF_/]jj 636.58 T
ET—HX:\T—._ﬁh— ) 690.43 |
702.07 |




1 —
1585 1323% 5 ;_% NFARF—T55
1504 10166515 = ?’%MR B E B BAT—Bp ;82‘713
1282 2321 %JII et sl /\’7?34[;\:'?1-{’%—:;7;;55;!&7‘*_%3 709.91 0
120 : d E G : 715.08
L] MO £ S P2 (Efiaznt el s -
1200] 2114 ik BA [REHET *17(%%”_%3 723,51
1210] 10168 f?,ﬁ :ﬁ%— Rl ;;i&l-ii—ﬁ?;{;‘ = 726.60 | *
:’_: 0 o e —_ B
R E
=2 N “r B .
1213 2?33 ﬁg’ %Wﬂpi ;g:%—it%i}éi zé 737.07
12 EGIM ESE TS Dot B 744.31
igief orcolEl S0 | EREICEI YL T EACE . -
= 2000)/hE & R =2 17_(.5”_?])&7\;\—_ E 758.52
1216 10026 H & T 25 FRAEEHAT—E 759.26 0
1217 10174| 85 BX_| 'z‘ EE R AT i X —Hh 762.85 -
1213 8475 K11 T3 z W%_iwﬁ;ﬁ B 767 41 1
o310 I Bx |nn K=%X17<ﬁ"§§7‘* = 770.01
O] _2170]E i ARE SR ERAS B 1715 .
1772 ?;;3% L TR
5] ZE RS F P RIR S B AT —Hf )
1223 10192[ILEZ ;ﬁa;g_ Eﬂgﬂu%%;mzmx%x;_i; R
1224 10015\ X & e B PR E e A — B - 732'22 T
1225 7316 R =1 EE %’mx# 814.34 0
759 2157 EE‘ T— S,é %c *EELEHEX:\: 816.88
122; 18981 ) =& j;,g,:'\i'f”“’ e %
550l 2347 Tﬁ‘g AE W?;%z/ﬁ 82326 | (D
T230] Tor7e7s L oE
e i el L 839.76 | *
I L TR Y 539.86
1233] 1 ak: —= AR B AR E—’E%M af 846.20 | ®
e B S McIreE B LAt ol 854.00 | *
ol nEE = R—Y957 _ :
1 E I E G 856.4
BRI S—— 1 3L i ©
1237] 10159 R %—75 SR E’(%# ] 876.51
1238] 10201 e IE 1 W'§1;$Xt_gﬂ 877.10 | *
1239 2232 ;iili-m - FZi3 ﬁa%{s:}:;-m;(i—’gﬁ;@ ;‘3 884.39
1240] 10167 ETEIEIIZ ¥ %%'§17<=:ﬁtﬁéi_iz 908.25 | 1)
T241] 10180| 2T S AHH ﬁﬁ'fg[‘q:'%'ﬁmﬁ%; _;'3 913.40
1242|0121 | 7R LN ﬁﬂ%f@%‘mx%ﬁx#_f 916.36 |
1243] 10158]F & E3U] ﬁﬂ%w:‘%‘iﬂ?(%i%ﬁx#_;l 940971 @
1244|2050 ﬂﬁ 4’?7*;,[ ﬁﬂ?fiﬂh;&mﬁtﬁﬁ:ié 943.13
n— G | Rt
1245 10124 E“Er ;ggé %}ﬁ?ﬁx%ﬁ;@x# T 822'65 )
1233 10102;&7K % '7‘? TLEP% RAB BEBAT— 1001'3? =
B o 2 = T 1
1248 _oog6] 77K =, jjfgw?*fﬁ"é‘x_:ﬂ‘ix#—%ﬂ 107519
1258 "2)%15 =t E 73/9;:_}}:2:((7 L—v27 1019.33 1
A K ,% prig s —k547 L—09 :
i G R e
1253 10}?3 IJ:BE thid ﬁﬁ]i ig:ﬁT:ﬁx _‘:'3 1037:28 *
1] MCURE, U S 51 E 6410 2 I3 Rs 1046.46
1255] 10184 QEJZL' XE_|RREEPF %17(%@%2§_E§ 1069.11
T 1E —
1256] _ 3991|788% AL i_igﬂﬂhﬁ*-&mﬁtﬁ”_g; 1};5-80
12571 2043ligk il =LA AA 090 BT
1223 101324ig A B f%}%;ifx BEBAT ] 1279.76
A Y Y PR 155008 |G
1 Sl | R E I 5 At —H :
1 2 R RS, ] 1416.9
B3 A S L Il oS mmmroan
P = = 1E oo —_
ggz 2551 | HiH Z W?Wﬂﬁﬁéx#—gz 12%21 W
1265 gggg i’:ﬂﬁ EiRe 71-\'7,(“?,:,{;;?# _ 1618.83 I
i TEX /(%4;;1—:_‘y757_777 1929.75 | *
208853 | *




